
Parts whose Ord.No. is stated in full, e.g. 
(Ord.No. 47/11) are not included in the kit.

mit "Ord.No." versehene Teile sind NICHT im 
Bausatz enthalten!!

Ord.No.1023

90560
4,3x9

90535
M4
90535
M4

90600
4mm

90165
M4x20

722/38
834/38

2x 90155
M4x16

2x 90560
4,3x9

90075 (S)
M3x12

90545
3,2x9

90545
3,2x9

2x 90565
4,3x12

90075 (S)
M3x12

Mechanik/Motorverbinder-Set
Ord.No. 834/38
07/03

(S) Ord.No. 10/24

90535
M4


